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•  Align	
  two	
  protein	
  sequences	
  using	
  BLOSUM	
  
matrix	
  

•  Maximize	
  alignment	
  score	
  and	
  print	
  out	
  the	
  
op=mal	
  alignments	
  



Gap	
  penalty:	
  5	
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>4J8QA	
  	
  	
  
DGYSLGDIAVDWATVRVVGGDTYSLNADRWGTLWPAATAIPF
YKPIDGQRVITYFNPLYDNYEGYDHAVKVEHNYNVLTKQVEDL
TAENESEFGNDPVWVNKDWIGGGYLNVIFRQNLKHLVSLVRD
RATAAEGEDDGYIHLELRYKTYDDQANGAVSFNLNSLDLTGKK
GIKVKLNSVKDGETEVVFNLK	
  
>3K0Y	
  
DIWIAVATVVPEGNNVYYLRLDDGDKLWPAATNYPNYQPKPN
QRALVNFTILADSHYIKVNAIHNILTKSIAKNEGAANDSIYGTDP
VSIYNNNWIGDGYLNIYFETLWGGKTAHFINLIQPDAENDPYTL
EFRHNAYDDPQYTIGAGRVAFNLSSLPDTKGETVDLVVNYWTS
EGKQAYKLKYN	
  



•  The	
  first	
  part	
  is	
  not	
  challenging	
  enough.	
  	
  

•  So,	
  develop	
  an	
  algorithm	
  to	
  do	
  local	
  sequence	
  
alignment	
  





•  Where	
  to	
  change	
  in	
  the	
  previous	
  global	
  
alignment	
  algorithm?	
  	
  



•  Input:	
  two	
  protein	
  sequences;	
  output:	
  score	
  and	
  
op=mal	
  alignment	
  (global,	
  local)	
  

•  Upda=ng	
  rule	
  
•  Algorithm	
  
•  Time	
  and	
  space	
  complexity	
  
•  Implementa=on	
  
•  Difference	
  between	
  global	
  and	
  local	
  
•  Evalua=on	
  /	
  Comparison	
  (other	
  alignment	
  tools)	
  
•  Visualiza=on	
  of	
  op=miza=on	
  process	
  
•  Challenges	
  and	
  solu=ons	
  
•  Task	
  assignments	
  


